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MECHANICAL ENGINEERING DEPARTMENT
ASSIGNMENT OF MACHNINE DESIGN-2
WORM GEAR
Q1. Explain the following terms with reference to worm gear
(1)Lead angle   (2) Number of starts (3) Diametral quotient     (4) Lead.   (5) Types of worm thread.
Q2. Derive the expression for efficiency of worm gear drive , and importance of heat dissipation in worm gear. (2013)
Q3. A pair of worm gear is designated as 2/55/10/5. The worm rotates at 750rpm and normal pressure angle is 200. Worm is made of case hardened steel and the gear of phosphor bronze. Determine the power lost due to friction when power input is 1kW.            (2013)
Q4. A worm gear has 30 teeth of 140. and the coefficient of friction is 0.05. The worm is triple threaded with a module of 6mm and pitch circle diameter of 50mm. Calculate Lead angle, Velocity ratio, Center distance, Efficiency. (2008, 2014)
Q5. Design a worm gear drive for a speed reduction by 25.  Worm rotates at 600rpm and transmits 35kW. Assume double start thread and gear has 50 full depth 200 involute teeth.    (2012).
Q6. Using a suitable schematic diagram explain the forces acting on worm gears. Also define normal pitch, helix angle and efficiency of worm gear.  (2012)
Q7. Design a worm gear to transmit 12kW power from a motor shaft rotating at  1400rpm to a machine rotating at 75rpm. The center distance between shaft is 250mm. while the normal pressure angle is 200.   (2010)
Q8. Design a worm gear reducer to transmit 11kW power from an electric motor running at 1500rpm to a machine running at 75 rpm. The loading is intermittent (less than 3 hours per day) and steady. (2005, 2009)
Q9. For a hardened steel worm gear drive the center distance is 480mm and the transmission ratio is 20. Find axial module and lead angle.   (2007)
Q10. Design a worm gear reducer to transmits 15kW power from a shaft rotating at 1200 rpm to another shaft which 0.3 m apart. The speed reduction is 10.5 : 1. and teeth are 200 full depth.
Q11.What is Bevel gear. Define the terminologies and force analysis of Bevel gear.


(Kindly proceed through the steps and formulas of design and assume required data suitably…)
